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Math 1030, Exam #3, Summer 2014 Name (_E\f

Instructions: Show all work. Use exact answers unless specifically asde to round. Reduce as much as
possible. Be sure to answer all parts of each question. Be sure to decfare your variables in word
problems and state units in your final answer. |

1
i

1. Simplify the expression and write the final answer in scientific‘ notation. (6 points eéch)

4.3 x 107"

a. 0.0000012 x o2

b. (6x10M*:6x107

33S x10%

2. Factor completely, or state that the polynomial is prime. (7 poi}]ts each)
a. 1leg*—81

(4g:0)(47+9) = (24 )24 3 (45741

b. 9a? — 150a + 625
2 25

(3a-25)"

c. 27b% —125y3

(8- 5y )(96*+1Sby +25y")
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d. 4h?+81
e 4x+1)-y(x+1)

(x+0) (4-y )

f. 2q2+5q+3

(2452)q+ ) )

g 9st+3s+3t+1

3s(3k+0)+] (3E+D) = @t—ttXBsH)

h. (b+4)%2~c?

[@D‘f"ﬂ“q [(b+‘t> +q

i 22+7z+12

(2+3)(>+4)
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i 12m5 +4m* — 11m?

m3<l2mz+Lfm -—”>

3. Write an expression for the area of a rectangle whose length is 3x — 9 and whose width is 2x +
11. (5 points)

I ( 2r+\
-9
(2t Be=4) = brd- 18x +33%x -9 = bx*+ Sk t 99

4. If the height of a projectile is given by the equation h = —16t? + 96, at what time does the
object hit the ground? (7 points)

0= ~let*+I6

o G&’—fo\ =G
N~ 7449 ..

| Ms%ﬁgﬁwi

5. Solve the equations for the variable. State all possible solutiorihs. (8 points)
a. M+1)(n—-4)2n-7)=0

Ntl=0> N=-(
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b. h2+6h—16=0

(h+8)(h-2) =0
=%, h=2

gf&, ?,E
c. 8v2—12v+1=64—2v

SVE—lov 43 =

(2v - Hiv+9) =0

V-T2 -3 5%, %E

6. Solve the equation 3x* — 11x + 10 = —2x2 — 2x + 9 by graphing method. Sketch the graph
you obtain from your calculator. Round your answer(s) to two decimal places. (8 points)

Ve

I

= (187
Xx,l2
x%é.\z,l.@\g X=[.bgozs
) AAZS
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!
7. If aright triangle has one leg of length 5, and another of Iengﬁh x + 7, and the hypotenuse is x +
8. Find the length of the sides of the triangle. (8 points)

13 =Xt /| yez = 2

/

Y

I5+ (x£1)T = (x1D*

25+ Xy +49 = xEr lop t b
IO = 2x =5

8. Divide the polynomial x3 + 11x2 + 17x — 44 by (x + 4) and|use that information to factor the
original polynomial. (9 points)

- X5+ e~ [\
X+‘l))(3+l|7\”+\:l—>c-4'-\
X2+ 4r”
T FR ek
— FrF t28x
— 1% -4y
— 1\ x=4Y

—
O

(L)) s Ww




